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QUESTION 1

A user in the campaign manager group opens a workflow and clicks to open a delivery. After the delivery
opens, the following error is thrown:

Cannot load document of type “Deliveries (nms:delivery)\\' satisfying condition “(@id=12345678) AND
((@deleteStatus = 0))\\'.

The requested database record does not exist. What is the most likely cause of this error?

A. The user does NOT have access to the workflow folder.

B. The delivery has already been sent and therefore CANNOT be opened.

C. The MTA process is NOT running on the instance.

D. The user is NOT in the Delivery operators group and does NOT have permission.

Correct Answer: B

Reference: https://experienceleaguecommunities.adobe.com/t5/adobe-campaign-standard/delivery-error/ gaq-p/234713

QUESTION 2

A Campaign developer notices that a workflow scheduled to run daily and create a customer list is associated to a
campaign marked as Finished.

What explains the outcome of the next scheduled workflow run?

A. The workflow continues to run, but the list is NOT created as configured.

B. The workflow does NOT run regardless of the schedule until the campaign end date is adjusted.
C. The developer must copy the workflow into a new campaign and reschedule the new workflow.
D. The workflow continues to run as scheduled and creates the list as configured.

Correct Answer: B

QUESTION 3
A Campaign developer is configuring an exclusion that takes two queries as input.

Query 1: Select customers with email address Query 2: Select customers who do not want to be contacted Customers
who do not wish to be contacted must be removed. In a test run of the exclusion, the workflow

raises the following error:

"You must define the main set for exclusion "Remove Suppressions\\'."
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How should the campaign developer solve this issue?

A. Ensure a primary set is selected on the exclusion tab in the exclusion activity
B. Only connect one query activity to the exclusion

C. Configure a delivery for use with the target audience

D. Create the list called Remove Suppressions before running the exclusion

Correct Answer: D

QUESTION 4

A Campaign developer is setting up a new API to query the recipient table from an external application. The developer
is setting up an Operator for use specifically with the new API. In doing so, the developer selects the option "forbid
access from the rich client”

What impact does this have on the API?

A. The Operator will authenticate via external accounts for APl access.

B. The Operator has access via the API.

C. "The Operator can issue API calls from within the rich client.

D. The Operator is denied access via the API.

Correct Answer: D

Reference: https://docs.adobe.com/content/help/en/campaign-classic/using/getting-started/administrationbasics/access-
management.html

QUESTION 5

A Campaign developer uses the sysFilter tag in a form definition. What is the result?
A. The form is rendered with a filter button.

B. Records returned are filtered based on the condition in the tag.

C. A save error occurs because the sysFilter tag only applies to schemas.

D. The tag generates a predefined filter for use in queries.

Correct Answer: B

Reference: https://docs.adobe.com/content/help/en/campaign-classic/using/configuring-campaign-classic/ input-
forms/form-structure.html
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